B 5 Pk -7 bRX— AR —)Vi¥ - g Ak KSRk

« AF—A4H D
BILIN—F
MRIL YL e RS N A 5 B £ | K| EbE
HaIL VX 1 - 111 ® - 4 - 1411 2 29 3
finiibk @ - 1 ® — 412 = 12| 2 1 17 2
By 4 - 5|14 - - 910 3 19 4
L5y - 1 |©® - ®© - 0 3 0 3 1
2NV —7F
KHi 2N »Bix AKiA-1 B | dem | FERY
KHi 3 — 6 - 11 — 6|1 2 | 13 3
YN ® - 3 @ - 112 — 141 2 1 18 2
HBIT 1 - 2871 — 11 0 — 17( 0 3 56 4
AEA-1 ® - 1 - 2|1@ - 0 3 0 3 1
BITN—TF
VEbY A HiA-2 ik BA B £ | K| EbE
VEDHY = ® — 4|1©® - 1] 2 0 5 1
AHIA-2 — — — 0
Bk 4 - — - 011 1 5
A 1 - — 0 — 10 0 2 13
( BF—h )
BITN—T
KHi HAR Bidk AL 5 B £ | K| RbE
KHi 5 — 11| ® - T — 14| 1 2| 29 4
EALR @w - 5 4 - T — 811 2 18 3
Bk 4 - 5|1® - 4 ® - 4|2 1 13 1
L= - T - 714 - 3 2 1 19 2




[ B F—F ARk ] AF—A

1 B\1TNV—TF11

ALEZAH—V Y b

2 W3YN—T L
VEDYF—I—R

3 2T N—T 21k
HART A—IVF C

4 B1TNV—T 21
MBEL7—X

5 W3TN—F 20

PiHAI LIV

6 W2 N—TF11

AR ITN—T 7 LY —X

[ 3PREH, |
VEDOF——RX

ME 27—

AF—Lh
g W AdtEsAh—-Ly b

15

@ ARV —T 7P —X

B3I VEDOF—-—R

— {LESAH -1V >y b

———— 0EDDF - -



